Math Practice Questions: November 29, 2012.


1. There are 100 kids at school. ½ of the kids are girls. 2/5 of the girls have blond hair. How many girls do not have blonde hare?

2. The sum of four numbers is 22. The first number is 7 and the second number is 5. The last numbers are both the same. What is the third and fourth number?

3. A man buys coffee for $2.29, a muffin for $1.55, and a newspaper for $1.10.
He uses a $5.00 bill to pay for his purchases. How much change should he receive from the cashier? 

[bookmark: _GoBack]If he finds $2 on his way to his car, how much money does he have now (including the change from the coffee)



4. What number can it be? 
The sum of all its digits is 14. 
It is greater than 50000 and less than 60000. 
It contains the numbers 0 to 5. 
The thousands digit is three more than the tens digit. 
Its ones digit is an even number. 
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